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QUESTION 1

Your customer requires a Layer 2 VPN service (draft-kompella-mpls-l2vpn). You are asked to describe the operational
requirements on the PE router supporting this service. 

Which two statements are true in this scenario? (Choose two.) 

A. The ingress PE router associates multiple MPLS labels with the corresponding traffic flows. 

B. The ingress PE router for a traffic flow maintains the data-link connection identifier 

C. The ingress PE router for a traffic flow removes the data-link connection identifier. 

D. The ingress PE router associates a single MPLS label with the corresponding traffic flows. 

Correct Answer: AC 

 

QUESTION 2

-- Exhibit ? 

-- Exhibit -

Click the Exhibit button. 

Referring to the exhibit, what are three operations performed by the service provider\\'s PE routers? (Choose three.) 

A. Modify the VRF label assigned using MP-BGP. 

B. Maintain the customer\\'s /32 loopback internal routes. 

C. Use MP-EBGP to send Customer Site 2\\'s internal routes to CE-1. 

D. Maintain the customer\\'s external routes. 

E. Maintain routes internal to the provider\\'s network. 

Correct Answer: BCE 

 

Latest JN0-661 Dumps | JN0-661 Study Guide | JN0-661 Exam Questions                                2 / 5

https://www.passapply.com/jn0-661.html
https://www.passapply.com/jn0-661.html
https://www.passapply.com/jn0-661.html


https://www.passapply.com/jn0-661.html
2021 Latest passapply JN0-661 PDF and VCE dumps Download

QUESTION 3

Refer to the exhibit. 

In the exhibit, R2 is receiving the 10.100.100.0/24 prefix from R1 and R4. R1 uses the 1.1.1.1 router ID and R4 uses the
4.4.4.4 router ID to advertise the prefix to R2. Why is R2 preferring the version of the route that R1 is advertising? 

A. The version of the route that R4 is advertising has a higher metric value. 

B. The version of the route that R4 is advertising has an external Type 2 LSA value. 

C. The version of the route that R1 is advertising has a lower associated router ID value. 
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D. The version of the route that R1 is advertising has a lower age value. 

Correct Answer: B 

 

QUESTION 4

You have recently deployed an MPLS network using CSPF with its default settings. Which statement is true regarding
path selection when multiple candidate paths exist? 

A. The path selected will be based on the most-fill bandwidth ratio. 

B. The path selected will be based on the least-fill bandwidth ratio. 

C. The path selected will be based on a randomized algorithm. 

D. The path selected will be based on the first-hop LSR\\'s RID. 

Correct Answer: C 

 

QUESTION 5

Which two statements are true about route leaking in a Level 1 -Level 2 network environment? (Choose two.) 

A. Level 1 internal routes can be leaked into Level 2. but require a policy. 

B. Level 1 external routes are leaked into Level 2 without a policy if the wide-metrics parameter is configured. 

C. Level 2 internal routes can be leaked into Level 1, but require a policy. 

D. Level 2 external routes are leaked into Level 1 without a policy if the wide-metrics parameter is configured 

Correct Answer: BC 
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